
l:t;::a:a:.,::,z lii.

'"j
,#. ,1

qilffi
"Nrt w "s$.ffi -'1F-: . 2'-" 'l ..-i "-#" ' ,." "S''

lll. Uhrlrullutr \urqluul
gurhntrurqlur\urh (purdtrhhunlurp) \urqfrururft qnr-tn

rnttlurn

240 100.050.00( 100,050,00(

trmurur\{urb 2urhnr-1p
270 509,679,433 1,O46.729,03t

Ch4unihtrp uhrlnu\rutr \ruqlrtnul 300 609.729.433 1,146,779,03t
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lV. IIl pbpruglr\ rqrupurunlnpntplntlrtrtp #r liluqt r

bp\urpurduni\hrn pruh\urSfrh r{urp\hp lt
rhntuurnnrrotnr-hhhn

310 1,887 ,964,191 1,929,519,697

Itr+ulilhhp n2 gtlpugb\ qurprnrur{npnrplnthhhp 360 1 ,887,964, 1 91 1,929,519,697
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V. CtrpurgF\ qurpuunlnpntplnthtrhp ;"r**- *tJ'# it *t i
s/" "t"'". 'ds;'j:F 

.\lS

trurpdurdurillhur r[n]uurnnr-pSnthhhp 380 1,407 ,330,302 1,847 ,951,07t

trph4|rurnpur\urtr qurpurphp qhnr.fhhrrh qb".l 390 433,963,054 308,129,02C

Uururgrlurb ttrfu*glrlf \urhluunldrupLhp 400 23,121,202 54,070,89€

trurpdurduni\hur \phafrurnpur\urh qurpuphp plnr-2hfrtr 410 66,489,29C 84,755,30C

trurpdurduli\hur furh4frunpru\urh qurpuphp
qurnrnur+hn unghuqullurtr urqurhn{urqrntp3urh qbm{

420 379,27e 949,79S

ltr4rurlttrg Ulrfnurghq rqurprnurtlnpntplnr-hbhp 490 1,931,283,12e 2,295,856,09:
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ZUCqbrrChfI 500 4,428,976,750 5,372,154,824
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